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QUESTION 1

Time is always the metric on the horizontal scale of a(n) ___________ Chart. 

A. Pareto 

B. Xbar 

C. Multi-Vari 

D. NP 

Correct Answer: C 

 

QUESTION 2

From the variance F-test shown above, which of these conclusions is/are valid? 

A. The variance between the class score distribution is significantly different 

B. The variance between the class score distribution is not significantly different 

C. This test applies only to Normal Distributed data at 99 % confidence 

D. This test applies only to Non-normal Data at 99 % confidence 

E. There are not enough data points to make any statistical conclusions 

Correct Answer: A 

 

QUESTION 3

Which statements are correct about the advanced Capability Analysis shown here? 
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(Note: There are 3 correct answers). 

A. This is a Poisson Capability Analysis. 

B. The average DPU with 95% confidence is between 0.024 and 0.0295. 

C. The DPU does not seem to vary depending on sample size. 

D. The process shows only one instance of being out of control statistically so we have confidence in the estimated DPU
of this process. 

E. The maximum DPU in one observation was nearly 0.0753. 

Correct Answer: BCE 

 

 

QUESTION 4

Who was the chief mentor of force field analysis? 

A. Kaizen 

B. Maslow 

C. Kurt Lewin 

D. Deming 
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Correct Answer: C 

 

 

QUESTION 5

A Belt is analyzing data and upon creation of the graphical analysis sees multiple modes. One of the primary reasons
this could occur is because the process has experienced a ____________________. 

A. Significant change from one shift to another 

B. Sizable Measurement System error 

C. Catastrophic failure of some sort 

D. Any one of these 

Correct Answer: D 
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